[ ]
== O (=) =
I0|E =2, E2I2E ASEH SEE QS -BE
E5 MY/HIE oo x|
oY
THE:
g EflE, EZ2RAEPUR)
Ho{&, AE!
EMH o2
EEE, T2 M,
HH.
g Ef=Es 2 Hol2lo BHESHAH FEEi&LICH & EflEE BE
D = 40mm £ E{ 0|F &llojo{2 E|o] Q&Lct.
PUR & Ef=o| X XAS FaielLct

JtolE E8{= 12 C}

o
T

&t 23 E0il = EE #F0ols MEstK|
f&LICH 7tol= Eis S22 S L estx| of2 2ol CHEr LY
Ol A&LICH SHEHO| 28 E U2 FE{ 2LEHU Z 7t X§

2 = A&

HEAL BHSF S E 2 3008 59 10003 Mo 2 EAERSLIC &S
Z7dn #Zof LEPEF 237t EetE £+ &Lt

N
B1
B
|
0 i
)
o a4
4—j—1al 8 =
/g' Z
V' "/ \
|
= g9
FEEHS B B1 D D1 D2 Et el Etel AEE HhZ3 dhek 25t ChSof =%
N
K2372.102008 8 11 20 6 86 B Za AS 696-2RS 63 K2378.3006110
K2372.102509 9 12 25 6 93 B Zret g 626-2RS 93 K2378.3006110
K2372.103011 11 15 30 8 12 B Ztel s 608-2RS 167 K2378.3008130
K2372.103511 11 15 35 8 12 B Zo US 608-2RS 225 K2378.3008130
K2372.104012 12 16 40 10 14 B Zrer s 6000-2RS 314 K2378.3010160
K2372.104514 14 18 45 12 18,3 B ZteE g 6201-2RS 402 K2378.3012160
K2372.105014 14 18 50 12 18,3 B Zot US 6201-2RS 470 K2378.3012160
K2372.105515 15 19 55 15 21,6 B Zret Is 6202-2RS 510 K2378.3015170

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



J710|1=E &8, EClLE, ASH, EE 813 -8B

—17

= 29
FEHS B B1 D D1 D2 Et el Etel AEE U3 dhek 25t ChSof X%t

N
K2372.106015 15 19 60 15 216 B HENI=S 6202-2RS 539 K2378.3015170

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

2/2



